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QUESTION 1

A US business-to-consumer (B2C) company is planning to expand to Latin America. They project an initial Latin
American customer base of about one million, and a growth rate of around 10% every year for the next 5 years. They
anticipate privacy and data protection requirements similar to those in the European Union to come into effect during
this time. Their initial analysis indicates that key personal data is stored in the following systems:

1.

Legacy mainframe systems that have remained untouched for years and are due to be decommissioned.

2.

Salesforce Commerce Cloud Service Cloud, Marketing Cloud, and Community Cloud.

3.

The company\\'s CIO tasked the integration architect with ensuring that they can completely delete their Latin American
customer\\'spersonal data on demand. Which three requirements should the integration architect consider? Choose 3
answers

A. Manual steps and procedures that may be necessary.

B. Impact of deleted records on system functionality.

C. Ability to delete personal data inevery system.

D. Feasibility to restore deleted records when needed.

E. Ability to provide a 360-degree view of the customer.

Correct Answer: BCD

QUESTION 2

An Architect is required to integrate with an External Data Source via a Named Credential with an Apex callout due to
technical constraints. How is authentication achieved?

A. Handle authentication with login flows.
B. Handle authentication in the code.

C. Connect via Salesforce Connect.

D. Connect via Communities.

Correct Answer: A

https://help.salesforce.com/articleView?id=named_credentials_define.htmandtype=5
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QUESTION 3

A company needs to integrate a legacy on premise application that can only support SOAP API. After the Integration
Architect has evaluated the requirements and volume, theydetermined that the Fire and Forget integration pattern will
be most appropriate for sending data from Salesforce to the external application and getting response back in a strongly
typed format.

Which integration capabilities should be used to integratethe two systems?

A. Outbound Message for Salesforce to Legacy System direction and SOAP API using Enterprise WSDL for the
communication back from legacy system to salesforce.

B. Platform Events for Salesforce to Legacy System direction and SOAP API using Partner WSDL for the
communication back from legacy system to salesforce.

C. Platform Events for Salesforce to Legacy System direction and SOAP API using Enterprise WSDL for the
communication back from legacy system to salesforce.

D. Outbound Message for Salesforce to Legacy System direction and SOAP API using Partner WSDL for the
communication back from legacy system to salesforce.

Correct Answer: A

QUESTION 4

Universal Containers (UC) is a global financial company. UC support agents would like to open bank accounts on the
spot for a customer who is inquiring ab UC products.

During opening the bank account process, the agentsexecute credit checks for the customers through external
agencies. At a given time, up to 30 concurrent rewill be using the service for performing credit checks for customers.

What error handling mechanisms should be built to display an error to the agentwhen the credit verification process
failed?

A. In case the verification process is down, Use mock service to send the response to the agent.

B. Handle verification process error in the Verification Webservice APl in case there is a connection issue to
theWebservice if it responds with an error.

C. Handle integration errors in the middleware in case the verification process is down, thenthe middleware should retry
processing the request multiple times.

D. In case the verification process is down, use fireand forget mechanism instead of request and reply to allow the agent
to get the response back when the service is bar online.

Correct Answer: B

QUESTION 5

An Integration Architect has designed a mobile application for Salesforce users to get data while on the road using a
custom Ul. The application is secured with oAuth and is currently functioning well. There is a new requirement where
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the

mobile application needs to obtain the GPS coordinates and storeit on a custom geolocation field.

The geolocation field is secured with Field Level Security, so users can view the value without changing it.
What should be done to meet the requirement?

A. The mobile device makes a SOAP API inbound call.

B. The mobile device receives a REST Apex callout call.

C. The mobile device makes a REST API inbound call.

D. The mobile device makes a REST Apex inbound call.

Correct Answer: C
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